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ITlustration 65.
From the following data, calculate Inventory Tu
Cost of Revenue from Operations (Cost of Good
Opening Inventory I 60,000.

s Sold) ¥ 3,00,000; Purchases ¥
3,30,000;

rations 5 % 3,00,000
275,000 4 Timgg

Solution:
Cost of Revenue from Ope

Inventory Turnover Ratio = Average Inventory

Cost of Revenue from Operations (Cost of Goods Sol(fl) .
- Opening Inventory + Purchases Direct Expenses — Closing Inventory
Closing Inventory = Opening Inventory + Purchases — Cost of Revenye
erations (Cost of Goods Sold)

from Op
- % 60,000 + ¥ 3,30,000 — Z 3,00,000 = ¥ 90,000.
y + Closing Inventory) + 2

Average Inventory = (Opening [nventor
= 2 =¥ 75,000.

— (% 60,000 + X 90,000)

Illustration 66.
ases T 2.42,000; Revenue from Operations, i.e., Ny

Opening Inventory is I 29,000; Purch :
Sales T 3,20,000; Gross Profit 25% on Sales. Calculate Inventory Turnover Ratio.

Solution:
 Cost of Revenue from Operations _ X 2,240,000 8 Tim
Inventory Turnover Ratio = Average Inventory % 30,000 es,

Cost of Revenue from Operations (Cost of Goods Sold)
— Revenue from Operations — Gross Profit

- 7 3,20,000 — ¥ 80,000 (i.e., 25% of X 3,20,000) = X 2,40,000.
Closing Inventory = Opening Inventory +Purchases — Cost of Revenue from Operations
= ¥29,000 + ¥ 2,42,000 - X 2,40,000 = X 31,000.

e ;
Average Inventory = OpEning nventory2+ Closingilnyentony
% 29,000+ % 31,00
3 5 0.z 30,000.

Illustration 67.
Opening Inventory ¥ 29,000; Closing Inventory ¥ 31,000; Revenue from Operations (Net
Sales) ¥ 3,00,000; Gross Profit 25% on cost. Calculate Inventory Turnover Ratio.

Solution:
Inventory Turnover Ratio = Cost of Revenue from Operations X 2,40,000 imes
Average Inventory i < 30,000 -8 e

Calculation of Cost of Revenue from Operations (Cost of Goods Sold):
Let Cost of Revenue from Operations (Cost of Goods So] d) b ? 100
e

Gross Profit = ¥ 25
Revenue from Operations = X100 + T 25 =T 125
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(¢ Revenue from Operations (Net Sales) is ¥ 125 then Cost of Revenue from Operations
;.; (Cost of Goods Sold) is = X 100.

| (¢ Revenue from Operations (Net Sales) is ¥ 3,00,000,

1
f§ Cost of Revenue from Operations (Cost of Goods Sold) = %(2% x  3,00,000 = X 2,40,000.

Opening Inventory + Closing Inventory

2

~%29,000+% 31,000
B > = % 30,000.

Average Inventory

Illustratlon 68.
, ' from the following information, calculate Inventory Turnover Ratio:

~.% Net Sales ¥ 4,00,000; Average Inventory X 55,000; Gross Loss on Sales is 10%.
Solut10n:
Cost of Revenue from Operations _ X 4,40,000

= = 8 Times.
Average Inventory Z 55,000

[nventory Turnover Ratio =

L Working Note:
; Net Sales = ¥ 4,00,000
Gross Loss = 10% of ¥ 4,00,000 = X 40,000.

Cost of Revenue from Operations = Net Sales + Gross Loss
= T 4,00,000 + I 40,000 = X 4,40,000.

B Illustration 69.
: | From the following information, calculate Inventory Turnover Ratio:
| Total Sales ¥ 2,20,000; Sales Return ¥ 20,000; Gross Profit ¥ 50,000; Closing Inventory

' ?60 000; Excess of Closing Inventory over Opening Inventory T 20,000.

SOlutlon_

g : Cost of Revenue from Operations X 1,50,000 )

E Inventory Turnover Ratio = Average Inventory = 250000 = 3 Times.
| Working Notes: {

| 1. Calculation of Average Inventory:

Opening Inventory = Closing Inventor
Opening Inventory

— % 60,000 - ¥ 20,000 = X 40,000.
(Opening Inventory + Closing Inventory) + 2
— (% 40,000 + T 60,000) + 2 = % 50,000.

| % Cost of Revenue from Operations = Net Sales — Gross Profit
; _ 7 2,00,000 - ¥ 50,000 = X 1,50,000.

y - Excess of Closing Inventory over

Average Inventory =
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Ilustration 70.
¥ 2,00,000 is Cost of Revenue from Operations (Cost of Goods Sold); Inventory Turngy,
T

Ratio 8 times; Inventory in the beginning is 1.5 times more than the Inventory at the eng
Calculate values of Opening and Closing Inventory. (Delcpoes M"diﬁedi

Solution:
i tof G
Inventory Ticve RS Cost of Revenue from Operations (Cost of Goods Sold)
Average Inventory
g = < 2,00,000
Average Inventory

Average Inventory = ¥ 25,000
Average Inventory = (Opening Inventory + Closing Inventory)/2

Let the Closing Inventory be x; So, Opening Inventory = x + 1.5x

X+x+1.
Hence, __x‘Sx
2

=X 25,000
3.5x =X 50,000
i 3l)
X = %= X 14,286 (Closing Inventory).
Opening Inventory = % 14,286 + 1.5 Times of ¥ 14,286

Thus,
=X 35,715 (i.e., T 14,286 x 2.5).

Ilustration 71.
Cash Revenue from Operations ¥ 50,000, Credit Revenue from Operations ¥ 1,50,000.

Gross Profit 25% on cost. Closing Inventory was 3 times the Opening Inventory. Opening
Inventory was 10% of Cost of Revenue from Operations. Calculate Inventory Turnover Ratio.

Solution: :
: Cost of Revenue from Operations % 1,60,000
Inventory Turnover Ratio = = = 5 Times.
Average Inventory X 32,000
Working Notes:

1. Calculation of Cost of Revenue from Operations:
Let Cost of Revenue from Operations be ¥ 100; Gross Profit =% 25
Revenue from Operations =% 100 + ¥ 25 =% 125

If Revenue from Operations is ¥ 125, then cost is =3 100
If Revenue from Operations is T 2,00,000, then cost =X 2,00,000 x T 100/ 125 =% 1,60,000.

Opening Inventory = 10% of Cost of Revenue from Operations = % 1,60,000 x 10/100 = ¥ 16,000.
Closing Inventory = 3(Opening Inventory) =% 16,000 x 3 = 48,000.

A e e 316,000 (Openmg)2+ ¥ 48,000 (Closing) 332,000,
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[l1lustration 79.
e Receivables Turnover Ratio:

From the following information, calculate Trad
4 : 3
Trade Receivables: Opening 20,000 | Total Revenué from Operations 2,00,000
Closing 25,000 | Cash Revenue from Operations 87,500
Provision for Doubtful Debts: Opening 2,000
Closing 2,500
Solution:
Credit Revenue from Operations G » ¥ 1,12,500 = ST
T 22,500 '

Trade Receivables T Ratio=
rade e Average Trade Receivables™
e from Operations — Cash Revenue from

*Credit Revenue from Operations = Total Revenu
Operations

= % 2,00,000 — ¥ 87,500 = X 1,12,500.

! T 20,000+ 25,000
**Average Trade Receivables = > = & 722 5(010),
Note: Provision for Doubtful Debts is not deducted from Trade Receivables to calculate Trade Receivables

Turnover Ratio.
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F3,000; C
0,000; Cas
NOY

= ¥ 14,00,000 —
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[llustration 89.
Calculate Working Capital Turnover Ratio from the following:

Current Assets T 9,00,000; Revenue from Operations % 30,00,000; Current Liabiliﬁe
% 3,00,000; Sales Return ¥ 50,000. :

Solution:
R from Operations (Net Sales
Working Capital Turnover Ratio = SYeRtas o .pe : ( )
Working Capital

< 30,00,000 y
=————— =5 Times.

~ %6,00,000
Current Assets — Current Liabilities

< 9,00,000 — ¥ 3,00,000 = X 6,00,000.

Working Capital

Illustration 90.
Current Assets T 12,00,000; Current Liabilities I 2,40,000; Sales: Credit ¥ 24,00,000 and
Cash T 5,20,000; Sales Return ¥ 40,000; calculate Working Capital Turnover Ratio from

the above information.

Solution:
R f O . 3 .' L
Working Capital Turnover Ratio = CRETILIETEN p eratlons. i.e., Net Sales
Working Capital
_ %28,80,000 _ 5
39,60,000 i

Revenue from Operations, i.e.,, Net Sales
= Cash Sales + Credit Sales — Sales Return
= ¥ 5,20,000 + ¥ 24,00,000 — ¥ 40,000 = ¥ 28,80,000.
Current Assets — Current Liabilities
T 12,00,000 - ¥ 2,40,000 = ¥ 9,60,000.

Working Capital
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